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Skew-quadrupole variants of compensation of a detector KEDR longitudinal
magnetic field effect on betatron coupling at the VEPP-4M collider

S.A. Nikitin and I.Ya. Protopopov

Budker Institute of Nuclear Physics SB RAS
630090, Novosibirsk, Russia

Abstract

Variants of betatron coupling localization at the VEPP-4M magnetic structure
section incorporating KEDR detector with a magnetic longitudinal field are
proposed and considered on a basis of a Steffen's compensation scheme with two
skew-quadrupole lenses. Beam sizes as well as other parameters describing a quality
of compensation effect are calculated using Teng's parameterization. Principle
feature of the scheme to the effect that a vertical beam size in the interaction point
may be considerably increased depending on the longitudinal field value is revealed.
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���
 ������	
��

�#��
�	�� 	�
����� $%%���
��	� &�� 	� ��	��� 
 �����
#�
��� ��#�
 ���	
�

����
������� 
	����
 ��

������� ������	��
�	�� 
���� �����	
��

�



��'#�'!
� 

��������	
� �������
� '!
� 
���	�
���.
(���
�	� ����
#	�� 
��
��� �����	
��

 ��
�	
� �������	���

���	
�	��� ���� 
 ����!�' 
��'-����� ����	�� �
	� ������	 ��� 	� ��°
���	
�	�� ����� ����	�� �
	��� (�  
���	� ��)	� ������
�� 	� 
���� 


“

��	��” (*	
sLs���

���� 
 �
������ �*���� �������	�� ������ +��
� * �

��������� ��������
� '!
�  ��� �������� ���
��
�
 �������		�� ������	
�

	�  #�
��� 
 �������	�� ����� ���
#
	�� Ηs 
 �����)�		�
��' Ls;  HR –
���	
�	�� )�
���
��. ,���	�� ����
�� ��
��	�	
� ������ �� ��� � 
�
	����

�������� 
 �������	�� ����� �“

�
�
�
� �����
”)[1-4]� -� #�� �����
��	�

�
� �� ������ �� ��� [5-7]� ��� ��� 	� $	���

 �	� ,$� 
 �	�#�	

 ����

� ���������� 	���
���� 0.2 &�
�� �������� ���� � ��� *=0.075.   
.��#	�� ����� �������

 
����� ���� !�	
�� �����
���		�� �� 
�����


�
��
� � ��	 ��	

 "
�
	� ���	�
�	��� �
	��	��� ����	�	
� 
���


������	
� �/� 0� ������� 
 $��� ����' 

����� ��
� 


���� 
��'-
����� ����	�� ������������ ��
����)�		�� � ��� ������� 
 �
$�
���
��	����	�� �����) ���� � ��

����
������ 
� #�� ��		�� ����� 	�

������
� $%%���
�	�  �������� ����
����	�� �������� � #��� .
	��	��

��
#
	� 
����	� 
 ����"�� ����
� ��� ����
����	�� �

���

�		��

% 	��

 DZ, ���� )������ 
���� 	��
#
� �������	��� ����  (max{DZ} ~ DX).
��
	�
� �����
���

 
���
 ������	
� 	� ������	��  #�
���  
���
����

���
 ��	������		��  
���	�	

 $%%����� 
���
 	� ����"�� #�
�
 �������
������
� ����� ���
����	�� 
��
���� �� 
���	�	
' 
 ������� �����	
��



�
	��	��� ����	�	
� 
���
� .	 	�"�� �
��
���		�� ��
��	�	
� � 
�����


�
	���� ��������� 
 �������	�� ������ ��� 
� #�� “
������” ����


������
�� '!�� 
���� �����
���

 
���
 ������	
� ��

�	� � ������

1��%%�	� [7]� .	� �������	� ���
�� 
 $��	��
#	�� ��� ��� ���� �� �
��� ���
skew- ����� ����	�� �����������

0
)� ��
 )����
� �����)	�
�� ��
��	�	
� $��� 
���� 	� ��������

��

#
��	� ��������� � #�� � ����
#	�� �� ���
�	���� .
���� �	
��	
�

 ����	� ����
����	�� ������ � #�� � ��
�� �
���#
 � � ��	��� ������ �

 
���
�� �����
���

 
���
 	�  #�
���� ���'#�'!�� ����� $��� ��������

��)�� �	�#
����	� 
���	
��
�� ��
���	�� ��
�������
��� 	 )	�  #
������
��
 ��

�����	

 %�������� ��
�'!
� 	� 
���
��
���
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��
���� �� ��
��
���

 “�
�	
�
” ����
��
������ � 	
�
�
� 
��
�����
� ���
����
���
� � �
���

�� ��
�����
 	 ��


������ 
 
���� �
� ��<<1;  �2/Ls � �	


����
���� ����	���� ���	����
 �
�����
��� 
��
�
�����
 ����� ������
 �

������ �
���

��� �
�����
��
 �
 
�� ��
�
�� �
���

�� �
�����
 �


��
� “�
�	
�” �	� ��
���� !� �
�
���
� � ����	���� 
 “�
��”

������� ��� 
� ���
�
� �
	��
���

 ����
 �� �����	� ����� �
�
�

�	� �� ��� �
���

�� "�
����
� ����� M+  ����
�� ���
����
���
� 
�

��
����� ��� ����
�
��� �	�  	������
�� SQ+ , �
 �����
�� ���
� �
�
�
�	

�
���

��� "�
������
� ��� ����
� �
�
�
�� ����� 
�� � 
���	� “–“.
#���� �
HsLs/(4HR) 
��
�
��� 	 �
�
�
�	� �
���

��� �
���� ��
�� 	
�
�
�

����� Ls�����
�� ���
����
���
� �� �����	� 
� SQ+ �
 SQ–  
���� �
�   

$���� � � ����
�� ����
�
 ��
�����	� ��
�
� Ls/4; Ms – ����
�� �
�
�
�	

�
���

�� � ��
��
���

 “�
�	
�
” ����
��; Q+ 
 Q- ����
�� “�
�	
�” skew
�
��� “�
��” 	
�
��� 
���� �
�����

 ����� �
 ���
�
�� 
 
��
�� ���

���	
�: g =g+=–g– =G+·L+/HR; G+ – ����
��� � �
��� ��
�
� L+. !����
���	����
� �
�����

 ����
�� M+  
 �–   �
������� 
�����
��

������
�
�

 ��
�� �����
� �
��
���
 ��
��
 �
	������ ��
 ����
� ��
����



��
���
 �� ��������� �
��
������� %������
� � ����
�� �����
�� 2×2 ���
��

��
���
�
 
��
�
��
�
 �����	� ����
��
� ����	����	:

& ��������
����
� ��
��
���

� 	
��� �
��
 ���������� ������


��
�
�
 �
���	� �
 �� ��
��
������� ��
	
 �×2 ����
�� � � �

�������
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��
��
�
� �
	��
���

 ����
 ����� �������
� ���
 ���
����� ����� �
�
���
�
�:

'��� ��� (��	�
� ��
���� P(s) ��
�
���� �����
� ������
�� 
 �
���� ����
����
�
��� skew 	������
��� ��
��� g 	
�
�
�
 
����������� ����� ��������
� 
 %������� ����
�� �+� #
 �������
 � ���� ���� �
��
�
�
��� 
�

���	�
���	
� �

������
�� �������������� ������ ��
�����	
� �����
����� ��
�	
�
� �
���

���
� (��	�
� ���	 �
�
����� ���������� ���


���
���
� 
� �S� �

����������
 
������� (
����� ��� �
�� ������
�� �� ���

g=χ/(bXdZ) ).
& ���
���� ������ �����
����
� � [7] ��� ������ �
����� �� %����

 ��

)%&� ��� �����
�������� ���
�
� %	����
����� �� &*##��� � 
�����


�
�	
� %����
� ���� ��
��� ��+�	 ���
�
�� � �� �
���
	 �
��+�� ,�
�� �
�
�

�������� 	����
� (
	��
�
�	
  �
�
�
�	
 �
���

�� ��2/Ls  (Ls=250��	
�����
�����
 �� ��	 �� ���� �
�	
��	� ��
 
������� ���
�
�� ��
�	� 	

������
�� -X 
 -Z (��	�
� � �
���� L1 
 L2 
	
�
 ����� ������
 � ����	. *�

�
�
�
� 
 �
�� ��
 ��
��
���
� “�
�	
�” ����
�
� ����� ���
������� �
��+�� ������ ����� #
%�
�� ��
��
�
�
 �� �
��	
 ����
 
��
������� �

�	������� ��
���	�� ���
��� ������ �
 
 
�����
���� �

�������� �
� ���

����	���
��
	
 ������
��
�
 ��
���
� 
 ��������� ���	� ��� 
��
���
���
�
�����
�
���
� 
 ���
��
 �
������
��

2. 
����	�
 ��� 
������

.� /
�.1 �
	����
 �
�����
� ��������� 0��((��� ���	 �

%	����
��������
� ��
�����	� &*##��� ��� ������
� %((�	�
��
� ��
��

�
���

�� ,1�/� Ls!�"���� 
���������
� �
 �������
�� ����
��
�� �
� �

“���
���	
�� ��
���� ��� �
0� ���
�
��� �����
 �
��� L2� /����
�����
���	
��	
 ���
���
� � ����
� �
������
� ���
�
�
��
 P(s).
& ���
���� #1 
��
�������� +������ ���� 	������
�� SQ1 (
 ���	����


�
�����
���� � �
� � �
 ����� ��
�
�� 
� ����� ������
	� ����
�
������

����� �
����
 L1 
 L2;

,
2

XZZX dbdb
g

−
= χ

.0
2

=++= ZXS
ZXZX

ddL
bddbP

)1(
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&��
��� #2 �����
������ ��������
� skew �
�� �� ��
�
��
� ����� ���
�
� ��	����
����� 	
���	�
�
� S2 � ���
����������
� ��
�
��
 	 L2;

 & ���
���� #$  ���� �
�	
� �����	������
��� �
������ �����
 �
�� L2
�� ����
���	
� � ��
������

&��
��� #� 
��
��� �� �
�
�
�� �
�� L2 �
	��� ��
�
���
� 
�
 �

��
�
�
�
�
���� ��
�
�� �� ��
� η<<1.
'�	
� 
����
�� ���
���� ����
�� ��� �
 ��
���� 	
���	�
��� �


��
�
���
� ��	� ������ � �
��
�	� ��
 �
�� g. & ���
���� #4
g=G⋅L⋅sin(2η)/HR, ��� %�� ����
��� 
 ��
�� �
�� L2.
& 	������� 	�
���
� �
	��
���

 ����
 ������ 
�
� 
� ��������
�

���
����
���
� '���� [9]� ������ 	
�
���� ���� “�
����	�
���	
�
 �
�
�
��”
�� �
�����
 ��
�
���
 A, ��� �����	� �
	��
���

 ���
�
�� Ω=cosϕ �

���������� �
��
�	
 ��������
� ����� �
���� ���� 	�	 �
��
 ��
�� 	

��
�
��� .� ���
� �����	� Ω �
��� ��
�
���� ��

��
����� ������
� 	�	
�
��+�� ��	 
 ����+� ��
�
��� #�
 �
��
�	� 	
���
�
�
���
�� +
�
��

���
����� ����
 �2 
 
����
���� �
������
� � �
�� ����
	����
� �
�����



(DZ) 
 ���� �
�
�
�� �
������
�
 �����
� ���	� (Ψ	� /����
���� ����
������
������� ���	� �
 ����
	��
 
 �
�
�
����
�

.� /
��2b �
	����
 �����������
� ��������� Ω �
 ��
���� (s) ��� ������
��� 	
�������

 ��
��
� �
���

�� ,1�/� � �
��� � 	)� �� %����

 �)%&�

.� �����	� �
���

�� (��	�
� Ω(s) 
���� ���	
� �
	� .� 
��
��
� ����


K E D R

���� �� ��������� ��	���
	� �
������ 
 �����
�� �� ���

��
��
��	����
������� �	�����
�� ������ ��
��
�	� ����� �������

	��������� skew-����	��������� ��		��
�	� � 
	� ��	���
� �
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����!� Ω=const<1� "� ��
�2a ��

	���� 
��
��


��#��$ �����
�����$
����
���

� ��	
�������% ��
��	
�� �Z� �� �����
��� ������

��� ����&�$�

��
������ 
	������ 
 ��������% 	��������% ��
��	
�� �����
�	� "� ��
�
c
�	������� 	�
�	�������� ��	
��������� 	����	� ����� �� ����!� '())��*

σZ=(σ2
Zβ+DZ

2σ2
E)1/2

� 
� �� �
����$ � +��
� σZβ � ��
�
	���,% ����� � 	����	;
σE – �
��
�
����,% 	��	�
 ���	��� � ������ '�	
������,% 	����	 �
#��
������ ��	$��� 
 	�������,�� �� � ��

� �

	��� �	���	�� � ��
$
� 	��
����&� ��
�������� ��	��� 	����

���� 	������
� 
�$�� 	�

��
��� ��
��

������	�����$ 
�������$ ��	!�����,  ��

�
 ��	
������,  � 	�������, 

��
�
	���, ��������% �� 
��
 ��������$ �	�����
� ���$ � ��������!� �


�

���$�
 �-≈0.05.
.�	��
�	�

��� �����
��% 

	��
�	, � ����� � ��	���
� #1 �	������, ��

��
�
� ' 	�����
�
� �������� 
��, ��		��
�	�� SQ1 ��	���
	 Ω ������ �
�����!� �� �
�� ����!�� �� �
��#������ ���

�� 
 ������ � 
��#-��������
��� �� ����&� �����!,. )	� �
�� &�	��� 	������
� 
�$�� �������� �<10-4).
�����	 ����� �� ��	
����� �� ����!� �����&�� �� ��	$��� �� 
	������# 
�


������ ��� ������
�!��� 
��� ����� 

�� ���
���� ' 
� �� �	��$  	����	 �

��

� �

	��� �	��
���
�� �� �������
$ ������ �� ���	 � ����� ������ �


	������ 	����	� <σZ> � ��������!� . '�	
�������$ ��
��	
�$ �����&���
�� �	��������� �	���$ 5-10 
�� ��
�	,% �� 
���,���

$ ����
�,� ��	���� ��

	�����
�	�#��� 	����	� ������ )���� ������� 	����	��
 � ����	����%

���
��

�� �� 	���, �����
� �� 	������ �
�� ��
��)� �� � ��

� �

	���� �


��� ��	��������% �����
�����% 
����
	�� ���������$� �� �,
$��
 

	���

�� ��	����
��� �σX*���� ���� σZ*=14 ���).
"��� ����,% �	�����
 ���$ � ��� 
�

���$�
 ±39 /
/
� � ����� ����, ��


�	 �	� ���� HS=2 �/
 � ���	��� � /�'� *��
������� ��

����,% ��

�

������ ��
���$ � ���

	��!�� ����
�� �	�����
 ���$ � 	�������

��		��
�	� ��� � �
� /
�
�� )��
��� 
� ����
��% �	���� �� �������# ���$
����� � ������ ��	���
� 	���� �	���	�� � �/
�

)	��!�������� ��	���
 #2 ���� �
�����

$ �
 ��	���
� ��� 
�� ��� � 
�� �

� �	���� 
����� ��

� 	�
��������$ ��		��
�	� �� 
�������
 
 "������
���"
�����
��� 0����� � ��

� �

	��� ��	
������,% 	����	 ����� ����,���

$ �

���
�	� 	�� ����&�� ��� � #1� �$��� 
� 
��#������% 	�
�������


��

������,% ��		��
�	  	���
����� (
� ���
 ��������

� ������
�	���
�
����� � 
�$�� ��������%� �,�����,% ��	
������,� 
�������� 	������
��%

�	��
, � 
��

�������% ������ �� 
��
 �������
������� ��		��
�	�#����

�����%

��$ 
��#�����,�

'�	���
 #3 �

� 
����$ 	������!�$ 
 ��, �
������� 1����� � ����

��	���
 #4 
 ����	�
�� ���� L2. ������
�!�$ ���$��$ �	��������� ���$
��
��
�	� 
 ������# �� �����
�� ����	�
�� ����	������, �����
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� ��$�� � �������
� �

����� �	����$�

$ �� �

������ ���� ����� ' ��&��


����� ���� ����,% ���� ����	�
� ���� L2 ���

$ �,	�������

'�� �����
����, ����
���

�% ��	
�������% ��
��	
��� ��	���
	�� Ω � ψ
������� �� ��
���

0
����,�  �	��
�	�

��� 	�

��
	���, ��	���
�� ��$ "S=2 �/
� E=1
/�' �
	����, � 
����!� �� ��$ 
	������$ �	������, ����,� ��$ 
������ ���

������
�!�� ����	 � ������
�	�#�� 
��������� ���
�	� ' ��	���
� #4
η=0.74° (L=131 
�	� )� �	���# �

�
���, ���������% �	�����
�
����,�
$��$�

$ ��	���
 
 ����	�
�� ���� L2. '�	���
 �
 ���
�������
 ���������,%

�� 
��#�����	������,� ��	���
�� ��	
������,% 	����	 � ��

� �

	����

�
����#��%
$ �
 �	��� � ���
�	� 	���� 2 
� ����
��% 
���� �	���$ �
��

�$��� �	��$ ��� ���� ����� ��	������ �
���

��� 
����� ��	���
 #1.

'� �
� ��	���
� �������� g� �,��
������ �� 
��
��&���$ ��	�

�
�����

$ �
 g, ��%������� ��������%, �� ��������,% ���
�	 ��� 
�%).

[ ] [ ]
[ ].

][
4.48

���E��L

���H
��	


S

⋅
⋅≈η

������� �� .�	��
�	�

��� ��	���
�� ������
�!�� �	� ��� /�', "S=2
�/
 ��	�����
 � ���������
��% 
��#�����, ��� ��$ �����
����%

����, �� 
�; 	����	, ����� 	�

��
��, ��� ���
� �����
� 3�&���	�

����

���
G

���/��
Δν Σ1

��⋅���
Σ2

��⋅���
<σZ >
���

σZ∗
���

maxDZ      

��

�/� − 0.047 6.3⋅10-7 3.1⋅10-7 180 13 80

���� − 0 7.5⋅10-7 0 0 0 0

#1 0.039 4⋅10-5 7.6⋅10-7 1.8⋅10-9 18 14 10

#2 0.040 2⋅10-4 7.6⋅10-7 4.1⋅10-9 27 10 15

#3 0.036 7⋅10-4 7.6⋅10-7 4.1⋅10-10 5 12 8

#4 0.039 6⋅10-4 7.6⋅10-7 5.7⋅10-11 4 13 6
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����

���

���

���

���

�

��

��

��

��

���

� �����

�� ��

��� ��

�	
	

����	
	
��

�

������

������

�����

������

�����	

� 	����

�� ��

Ω

�

�

����

����

����

� �����

�� ��

σ�� ��

�

����2. ��������	
�� ��
���
��

�� ��
���� DZ(s), ��������

����������
���� �������� Ω��� � �����	�������� ��������	
��

������ �����   σZ(s) ��� ��
���� ������� ��� 
����� ��
��
����
�����

���� ����
�� ���� ��������� ������
�� HS=2 ��
 
�

�
����� E=1 ����
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���

���

��

�

�

��

��

� �����

�� ��

��� ��

��	�

��
��	���


�

�

��

�

��

�


 �





�� ��

Ω
�

�����

�����

�����

����	

�����

�����

� �����

�� ��

σ�� ��

�

����3. ���������
���� ���
��
�� 
�������� � ����� � �����
��


���� �����

���� #1 
 �
���	����
���  ���
�� 
�	����
� SQ1.
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���

��

�

�

��

� �����

�� ��

��� ��

�����

�����

�����

�����

�

�����

� �����

�� ��

Ω

����

�

���

� �����

�� ��

Ψ

����4. �������������� 	�
�����
 ��������� � ����� �

��������  #4 � ��������	 ���� L2.
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����

����

�

���

���

� �����

�� ��

ψ 

����

ψ��������

����

�

���

� �����

�� ��

ψ

������ ��������	
�� ����
���
�	 ���� �������� ����� �

�������
�� 
���
�� ����� 
���� ������
�� � �����
��

�����

���� #1 ��� HS=2 ��
  � E=1 ���� a - 
 ������
�
�����
�� ��������	
�� ��
���
��� b  - ��� �����

��������	
�� ��
���
��.

a

b
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3. ������ ��	
���� 
���� �� ���	�� ���������

��� 
������ � 
�
������
� 
��	
�� ��
��
�� 
���� ������
��
���
���

�� �������
�� ������� �������

��� ������ � ����� ���� ���


����
� � �������
�� 
���
�� � �����

�� ���
��
�� (Ψ� ���
� 
������	
������
��� 
��
����� �����	
� � ��	
 
������
��� !�� "������ ������
�

����� ����
� ������

�� �� #�
���$�����
� ��
 � ��
�����
���


���
�%�
���� ���
��� !�� ����
�� 
�
������

��� ������
��� � ��� �


���� !�� ����

&������ 
����� ��
��� � �
���
�
�� �� ���������� � "���� ������
��

��
��� � ������ Σ1 � Σ2 ������
� "������ ��'���� ��� 
����������

��
�� #�
�� ������

��� αj,βj (j=1,2) – ����!�

�� ��������� #��

�; Ω=cosϕ -
�������� 
����������
���� ��������; a, b � d – �����
�� ������� D⋅sinϕ (
��
�������
�� A):

(��� ��
���� ���������
	 
 �
���	����
��� ��!�� "����� ���

���
���

�� "������ ��'���� � 
�����	
�� ������
����� ���
	 �
� ���!�
�

����� �� ����� ���
�
�� � ��

����������� 
������ ����������� 
�����

)��
������	
�� ��������
�� �������

�� ������
�� ���
������
"����������� ������
�� ����
����� � �������
�� ���
����� ���� �
� ���
���


 ������	
�� ����� � 
�	 ���
����� �
���
���� 
������ ��������	
��

��
���
�� � ���
���� ������� ����� �� ����� 
�������
��� �������� �
�� �

�

��
��� ������	
�� "������ ��'����� ������
� �������� ��� ���� ������

� ���� ��� ���
� ��

�����	 ����
�� 
��
���� 
Σ1 ≈ΣX � Σ2<< ΣX   − 
��
#������ 1).

.sin dc
baD =⋅ ϕ

.22

];)()[(

;)2(

;)2(

;

;

;

22

222111

1

2

11

2

12

2

2

2

2

2

22

2

21

2

1

2

2

2222

2222

〉〈−〉〈
〉〈=

++−⋅=〉〈

+−+=

+++=

+〉〈=〉〈

+=〉〈

+=〉〈

zx

xz
tg

dbabxz

aabb

dbdb

DDxzxz

Dz

Dx

z

x

Ezx

Ezz

Exx

ψ

ΣβαΣβαΩ
ΣβαγΣΩβσ

ΣβαγΣΩβσ

σ

σσ

σσ

β

β

β

β

β

β

)2(
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)�� ���
���� ����� �""���� #�%��� 
� ��������
�� *
 ��� ���
�� ��

�
���
�� ��%	 ��� ���
�� ��������	
��� ������� � ��
�� �
������

� ��
�� �
����� 
α1=α2��� �������� �b*���� 
� � ��

����������� 
������
�
��� ���	%� �d*����� � 
��� 
�������� ���
	 �Z*��� ������� ������ �����
�� ��������� ��������
�� ���
�
�	 ����������
� ������
�� �b*|:

����� ���
�
�� ���
�
�� ������
�� ������� ����� � ��
�� �
����� 

����
�
��� ���������� 
���� �����

����� ������
� ������	
��� ���� �

�
����� ��
��� � �������
�� B ��
 
�����
���� 
��
�� ������ "����� ���

�������
�� �������� 
 �
���	����
��� �������������� #�
�� � ������

����
��� ������� ��������

+���� ����� ������

�� �� ��
����� 
� �

��� 
�� 
���
�%�
�� �����

��������	 ��
��

�� ���	���
	 ��� �����

�� 
���
���� ����������� 
����
��� �������� � 
���
����	
� ���
���� ����������
� ���������� ��
��

��
���� (�����
��.
������ �� ���� 
��
���� ���� ����
� � 
������
�� ��������	
���

������� � ��
�� �
����� �� ����

��� ������	
��� ������� � 
�	 ���
�� ��


� ����� � ���
��� ����������� 
���� 
��!�� ����� ���
��� ��%�
��
�����
�� ������ ������
 � [2])� ��
�	 �
� ����� ���
��� 
�!�
��� � ���	��
������	
�� ������
�� 
 "������ ��'���� ΣX� �����
���� ���������	 SQ
��������� �����
�
�� �� X � ���� �� Z� ��������� ��������	
�� "������
��'�� 
� �����
�����

�� �
���
� XZ ������ 
����� ���������

"��������
��" ������
���

��� F - "���

�� ��

���
�� SQ; βX  � βZ  ��������
�� "�
���� � ��
���
,������
��� !��  ������ �� � � ��
�� �
����� ����


*�
�%�
�� �����
�� �����
�� ����������� !��� �������
�� 
���
�� ����� �

��
�� �
������ 
�
�����

.// *
2

**11
2

*2
2

*2*
2

xXz bb βΣβΣΣΩβσ ≈+≈

,
2F

ZXX
XZ

ββΣ
Σ ≈

.
1

** ZZXXXZ F
βββΣσ ≈

.
*

*

*

*

X

ZZX

X

XZ

F β
βββ

σ
σ ≈

)3(

)4(
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�
������
�� ��� 
������ ����� �
� ���
��� 
 +-).�� ��������
� ���	�� ��%	

��������	
�� ������
��� ��
�%�
�� �����
�� 
������
��� !��� �����
�

���
�

���!��� �����
�� �������� �
� ���������
����

�

��������� �	� �

���� 
	�����	 ���� ����������� �
���
���� �
����

������� � 
���� �
���� �

��	������� �

��������� �� ����
�

���
������ � ����������	� �
��
��
 ��� ���
�����
� �������� ����� ��

�
��	������ ���	
	��� ��
�������� �
� � ���� �
�
��
��	�
��
�	� 	
���

�


����� ���	��� �� �

��
�	� X-Z �
� ����
�
 �����	� 
���
 ���	�
�
��
��
������ �� ��
�

�
�
	�
�
 �������� �  �����
�������

����
����� ��

������ !
� 
��
� �� �
� � �����	�� 	���� ��

��� �
���	


	�

����� 	����	
��� �
 ��� � �
� ����
� � �
 Z-������
���� �� 
��
� ��

�����	
� �����
	�
�� ��� ����	�� 

��
������ ������ "	� 
	�

�����

	����	
��� 
�����
��	 �
�
� ��
�����  ��
��� 
�#��
� ΣX  �  ΣZ.
$� %���� �
������ �
���
���� �
�� � ������ �������� &"''��(�

������	����� ��)�
�������� ��	�� ��� ΣX=ΣZ �
� ������	� �����
�
��������� #4� "

��	������� �
�� � ���	�� *+!%�� ����

�� ��	���	�� �

�
���
�	�
�� ������� � ���
��
�  
��
� ������� ������ '

���� �

���
� �
���	� ��	���� ����� ����� �
�
� ����� ������	��  ��
��� 
�#��
� �

�

	��	�	��� � ������������ ��)� 
�������� ,	�
)���� 
��� �

���
� �


����
�	�	�� 	������� σXZ ⁄σX≈0.177, σZX ⁄σZ≈2.�	� ,����� �
  
���
�� 
�� �

	� ��� �
���
�� � 
-��
��� �� ���	 �
����� �������� � 	
��
�	�� �
�����

��
���	�� .��

����
� �� 
�� �
����	

& ������	� #4 �� -��
��� � �	
 ��������� �
� 
	�
)���� 
���

�

��	�����
�
 ������� ����� ����
��	 � �������� 0.184 (|b*|=12.6 ���
β1*≈βX*≈69 ����

-���� 
����
�� 	���� ������� ��
�
���� �

����� ����	������

�
��������� ����
�	�	� �
 
�����
���� ��
��	�������� �����	����	��

����� �� ����	�� 

��
������ �����.

.
*

*

*

*

Z

XZX

Z

ZX

F β
βββ

σ
σ

≈ )5(

.
**1

*

*

*

Ωβσ
σ b

X

Z =

**** ZXZXXXXZ ββββΣσσ =

.**** ZXZXZZZX ββββΣσσ =
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4. ����������	 �
�����
	���� ����
�� ����� � �
��
 ����
�� ��

�����
���� ����
���������� ��
��

/
�
���
 
�� ��
� �
����	
�� �

�
�	�� 
�����
��	�� ��
����
� �

�

*+!%� � �����	�� ����
 ��
�
���
��
��
 ����	� � ���� 0������

��
��
���
�
 	
�� � �
����	������� 
��
	�� 
�������	� �

� � �����
�����

��� $S =const �� ������	 
	 ������� ���	��� ���

���� 
��� ����)��

��������� �
� ���	���
��
�
 ������� � ���	� ��	���� � ����

0���� ��	��� 
������� �������
�	� �
�  �����	� -���� b* 
	 �

� $S �

��
�������� � 
���� �
����� �������
�	� �����
��
�
 �������  σX* 
	 �������

���	�� E. $� %���8 �
�	�
��� �����	��� �������
�	� σX*
�� � ���	
� �  ��	�
��
�
���	�
�
 ���	������
 ��������� � 
�
��	� ������ ������� &"''��(

�
� 	�����
�
 	
�� ���	�� � ����	�� � � �.� & ������	� �
��������� #1

& ������ ������	�� �	� ��
����� �����	�� ����
 ��
�
���
��
��
 �

������
� σZ* �� 	��
��� �� / ���

��
������ ����
�
 �
�  �����	� �

�	
�����
� �������
�	� σX*(E) ���c��	��� �������
�	� σZ*  
	 �

� �S ���
E=1.5 1�& 
��� %���9).

.
)(

*

**

*

*
*

*
**

X

X
S

SX

X

X

X
Z

E
H

dH

db
bb

β
σ

β
σ

β
Σ

σ ⋅⋅=⋅=⋅≈

./7*
�����

dH

db

S

≈

)6(

������ &�� �

��	������ �

����
������ �
���
���� �
�

�
�������� �

������ � ������	� �
��������� #4 �� ���
�����
�����	��� � � ���	
 ��	����� �� � � �� �����	�� ��� � ��� ��


	�
��	�
��
 ���	� ��	����� � � �� �����	� ��� ��� � � ����


��
��
�
 �

��
���� � � � 
���� L1; 	 � � �

��

����
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�

���

���

���

���

��� ���� ���� ����

�	 ��


σ
�∗� μ�

�

�

������ ���������	 
���

 ����� � �
��
 ���

�� ��� �������
��

���� 
����������	 � ��
��� ���
��� ���
��� �� �
���
�����

����� 
���

�; 2- �����	 
���

� ���������	 �����

��

�
���
���	 ����

����

�

��

��

���

� � � �

σ��� μ�

����� ������

��� ���

������ ����������	 �
�����
	���� ����
�� � �
��
 ����
�� ��

�

����� ��
� �
�
����� � �������
 ����
������ #1 (E=1.5 ���).
��������� ������� ����
�	 �
� �
���� �
� ��
� � ��������
����

����� ��

����� k=1/10.
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�
� �����
��� ��������� ��  ��.9 ������� ����
�	 σZ*, ���
�

�
��� ���
HS=0 �
���� ����	! ��

������ ��� ������� ����"
��
 �
�����
	���� �

���������
	���� ����
��� � ��
���
	��# �βX≈βZ) ������
�
� k=1/10.
$���� �������� ����"�� ��

 � �
�
����
 � ��
����# 
���
������ �����

��	!�
������� ��%�� � ������

	��� �
�
 ��

����	 �
�����
	��� ����
� �

�
��
 ����
��� �����
�� �
���
���� ����
� �� ���������
�� &���� �������	�
��%�� 
� ��� ���� ��#�����	 �
� ������	 ��
������	 �� ��
� ��

��
��� ����

� �����#� �
��#����� ����
��� �����
�����!'�
 ����
���
��� � ���

���


���

�������
 ���
���� ����
��� (���
�����	! ��������
����� �������

�����

��� ���
�
���� ����
��� � �����
��� � ���
����� �
�����

"����������" ����� � ����'	! ��������# ����

��� ��
�
��� ��, ��� �� �


�������� � ���
�
��! ��
��
���
����� �������� ������ � �����
	����
����������

�����	
��


��
�
�%
�� � ��������
�� �������� 
���
������ ����� �
��������#
��

����� �� ������
 �
�
����� )*� � �����
	��� ��������� ��

� �

�

����������������� ��

���
�
 �+����, �� �����
 ����
�
��� �#
��

-�
��
�� � ����� ��	!���������
	���� 
�������  ��������� ����
�� �����

� �����
 �����
���� #�����
����!'�
 ���
���� ����
�����!'
��

����
������� � ����
	������
� �����
�������� $
���� ��������

���������
	��
 �������� �#
��� ������'

 � ������

	��� ��

��
���
�
�����
	���� ����
�� � �
��
 ����
�� � ����������� �� ������ �����
	����

��
��

.����� �
�������� ��,�$�������� � /�.�$�#����� �� ��

���


����%�
����
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���������� �
��������� 	�
��

 �������&��	� �����"!�" �
 ���#�
� ������(���
��"” #�
���� ��� T(s),
������
���"�!�" �����
��#� ������� ��#���	
�&���
� TT⋅S⋅T=S (����	� “T”
– 
���������������; #�
���� S ��
) 4x4 �����" #�
���� 2x2 
� � $�

�(����&���", ���������* ��$�
 �� ��������)��# ���#�
� ��	��&��	� �

��	���
��" �� ��"�)� 	���(���* #�$�
 (�
) ��������� 	 #�
���� U c
������#� ���� ����)��#� (��	�#� � ��#�!)� “������
��*” #�
���� R [9]:

+���) A, B � D - 2x2 ���#����"���� #�
����� ���&�#� � � � ���������
�" �

,��#� -����
�����*����:

��(� � ,�� �1,2   ��"���� �(�&��# ��
�# � ��(�
�����#� &����#� #�
���� �

(=��(�
�����# &����# #�
���� T ������
��� ����(�" #�
���

 �

���#����������# ,�����# ����
����
�� ����&��� �1,2� .1,2� /1,2���� �1,2
2)/.

������"�
 ���) ����#�
��� ������� 	�	 � ���
�#�% (�� ��"�� 	���(���*
 ����

��������
) T � ����


� �#��# �����
��� ���
��0���"

,
0

0 1 RTR
B

A
U ⋅⋅== −

.
cossin

sincos 1

ϕϕ
ϕϕ

ID

DI
R

−
=

−

;sincos, 2,12,12,1 μμ JIBA +=

.
2,12,1

2,12,1

2,1 αγ
βα

−−
=J

,
Nm

nM
T =

,
2sin)cos(cos 21 ϕμμ −

+−=
TT SSnm

D ,
01

10

−
=S
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�� �������� � ������
� &
� �������� ���� ��"�) ������
)� �
��
�
���
 �A
��������
 � M, � B � N)
 '�*�
��
��)��� cos2�  ����� �
��0���� ������
�

0����� (��&��% #�
��� �x2� �������$����% ��  �����* ��� �����
“�����(���
��*” #�
���� ����%��� ���� 	 ��������* ������
� 	��������

��(� � ,�� ���#��)��% #�� (�
�
�����% 	���(���*
 1&������� &
� �

��	���
��� (�� ��"�� 	���(���* 2
� ����&��� 
�$���
����� ����� �������� 

	


���#��)��� 	���(���" ��������
 � �(�&��#� ����#�� ��
� ����)��#�

#���#�
 3��(�� �����)����
) ����#�
� Ω=������
 4�# (��$� ��� 	 ��� �
��%����� �������)��� (�
�
������ &��
�
�� �������"�#�� ���
��*	�*

,�	������	� � �
��
�
��� ��"�� 	���(���*� 
�# ��#�
��� (���
 �
��&�� Ω �

������� ��� ����&�� ��"��


��(�� ���	� Ω  ��"��� � ��(���# ����$�
��)�� � ���	� ����� 	�����
��#

	����# � ����$���"% ��" (cosμ1− cosμ2)  � ������ ��2
�#�� ,��#��)���

−π/4< ϕ <π/4.  �����#�� 
�	�# �(����# ���	���� ���
��
�
��� #�$��   (cosμ1−
cosμ2) � Sp(M-N) ��#� ��
 � ����
�,�	���� ���#��)��% #�� ���
��&������"%
 ���(%���#� �
#�
�
) ���� ��
������� ���*�
��� �� �	������� �

��� ����)��* ��(�
� [9]
 � ������#��
� �
 ���(�����
�* #� ��
��*

�
��	
��� ����&��� �����  � Ω #� �
 (�
) #��)0� (ϕ - ��*�
��
��)��* � ��

��� (��)0� ������� �� �� � #��#�*

 ���������� ����	�� �� �������
 	

��"������ #��#�% ����$���* ��� ��&������� #�
��� A,B � ��"�����% �
��#� �(�(!����% ����#�
��� ������
 ���	��)	�


� #��#��
) ��&����
 � �����)
�
� ����#��$���" D∝1/sin2ϕ � tgϕ. �

��������% ���% ,��#���% ��
 ������#��
� �
 ���	� Ω� 

	
 ��� �����$�
 Ω2.
��# �� ��(� � �� ϕ �� �#��
 ,���&��	� � �#���� � �&�
�# �#��!�*�" ��"
�� � ���#�$���
� �����#�
) #��#�� ���&���"


,
)]([

)(2

4

1
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�����" �
����) Ω �%���
 � ����$���" ��" ��	��#��
�� ����������� �
��
�%���" [13]
 �
� ���&�
� &
� ��� �����)������� ����(��������" ��� � �

	���
�&��	�% ���
��0���"% ��(�� ���	� ���� �� ����
 ��������)��*

%���	
��
 +��	 Ω ���$�� (�
) ��� �� ����$�
��)��#� &
� #�$�� ��	���
)
#�
���# �
 ���
���� �
  �� ������������ #�
���� � ����������

��	�
��������	 �	
���� ���x,x’,z,z’) � �	
��� V=RY. ���� ���������

Ω=�����	
������
���
�1/2<0, �� � ��	�	����� �	�	���	 ���
��� �������

���������� �����) �	
��� � 
��	� ���	������ 
 	Y,  ��	� � �	��	� ���
� ���

�	����������

���������� B
���������	 
�
�� ���
�� ��� ���
���
 �����

�	��������� ���	� ����	� �
��� ��� �
�� �	 ���
	��� 
 ������

������������� ���
��� �����	�	�	���� ����� V=(u,u′,v,v′) - �	
���
��������������� ��
�������� �	�	�	����� ��������� � �������� �	
�����

X=(x,x′,z,z′) ��	�
��������	�  	���: X=RV. !���	���� 
�����	�� �	�����
XiXj ( ���	��� ������� �����
� ���
��� �����	�	�	���� ����"	� 
�
�

�	�	
�	����	 ��	�� ���� 〈uv〉 � 〈u′v〉 ��
��"	��� ��
 
�
 � 
���"�����	
���
���	�
�� �����	� ����� ������� ��
���	���� ������ Q1 � Q2 ������	
�����#�	��	 �	#�� ������ �� ����
�	���	 ��	�� �	��
����� τ ���	��
������������� ��������� � 	������� �	����� �
���	���� ���������� �	��
�:
|Q1−Q2|⋅τ > �� �$ �����	 �
������� ���
�", ����#�	����� �� ��
���	����
��������� ������	 �	�	
�	����� ��	��� ��#	� �
������� �	 ����� $ [13]
���
��� �����	�	�	��� �� ��������������� 
���������� ��������	��� �

���	 ������	�	��� ���
���� ����������� 
 ���	����� ������ � ��%����


���	����� ��� � �������	 �	 ��	�������	����
�����	��������  	����&������� �������� 
 ������� ����	�	���

�	�	�	����� ��� 
������ %�	���� 
��	
���� 
�#��� ���� �������	����

'�������� ����#	��	 ��� %�	���� � �
����� (������)����	����
�� ����	

( )[ ].'''

,'2'

,'2'
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�	�	� �
�
�	���	 �����	���  ������ ����	�� ���� 
�
 � � �����	

������������� 
���������

$	������ Σj (j=1,2) ������ ���� ������	���� ������� �
*	���� �


�%�����	��� Cj  − �������� ���������� 
��	
����� ��������	��� 
�


Cj⋅√βj⋅cosΦj� +�	������ ��� ��
��"	���	 
���	��������	 ��	�� 
����

��������������� �	�����	 (Σ1⋅Σ2)1/2cosφ, ��	 φ(s) - �������� ��� ����������
��� � 
���
��� ���������� ���	�	��	��� ���������� ��������� ��

���
�#�	��� 
��������� ���
�������� �� ������ ������	 s� �	������

���	��� ��� �� �����	���� ������"	��� ��	���� ������� �
�.
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